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MATHCMATICS By Pradeep Sir

L| ; 4 n-‘" Q. 1) What is the value of the given expression?
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Q. 2) If 720-8+915+-15-m+32x5=1104+-16 x 111+ 37,
then the value of m? 6 7 2
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Q. 3) Solve the following.

FFrafafaa o1 ga s

22- [9-{6- (10-4 + 3)}]] = 2x3
a) 12 7

(c) 3

(d) 20
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d9) —» 198 Q. 4) In January 2022, Kriti paid an EMI, which was 22%
— of her monthly salary. She spent the remaining salary on
shopping of groceries and clothes in the ratio 7: 5. She
h - C spent 18,200 on shopping of clothes. If, in February
: ) 2022, her salary increased by 16%, then what was her
| . salary (in) in February? —
h 5 * aqa%zozzﬁ,ﬁﬁmumwﬁm,whm
@200 L3280 FIN® AGT BT 22% UTI I YW Iq 3} fH77 F1 W=
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@~ = 7, 3P 39 A 16% FI i §8, At Beadl & BT e
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A (a) 66,350 .
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Q. 5) A dealer marks his gooda at 20% above the cost

price and allows a discount of 15%
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—
gd. = 1 Q. 6) Ankita sold her watch at 5% loss. If she had sold it
S5/ c??0 et 0 E] for Rs. 300 more, she would have gained 5% Find the
selling price rice of the watch.
mﬁmwsxmﬁwﬁmﬁ!ﬁsﬁm 300
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U, (a) Rs. 2,900 *
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c) Rs. 3,000~
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Q. 7) The rate at which a sum becomes four times of
itself in 12 years at simple interest will be:
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Q. 8) During a school excursion each student of junior
3 Q school was charged Rs. 325 and each student of senior
school was charged Rs. 400. If there were 80 students
from junior school and the combined average amount

3]s Yoo charged per_student was Rs. 352, then how many
\ / ;tau;dents :%:1[ gnior school w:%:%; the exg:;i_\gnl‘:s s
35 e? P T 3R R T & TP BT F Rs. 400
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Q. 9) P, Q and R can complete a piece of work in 187ays.
““15 days and 20 days, respectively. If they work together,
in how many days can they finish the same work?
P,Q aﬁ?ﬂ;%vmﬁﬁmz 10fe9, 1s R s 20 &= A
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Q. 10) P takes twice as long as Q or three times as long as
P o R R to complete a task. If they work together, they can
complete the task in two days. How long will it take Q to
complete the task on his own? L—
T 6 3 ° & P UF BT B mﬁﬁqﬁmmkﬁ?ﬂaﬁ%mm
UG A1 21,91 A THATY P BY, AN A P i gl R #
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Q. 11) A thief is noticed by a policeman from a distance

of 500 m. The thief starts running and the policeman

chases him. The thief and the policeman run at the rate

of 17 km/h and 20 km/h, respectively. What is the

distance between them after 8 minutes? .
I

R & UH yfera®Hl 500 m 1 g3 &

TSl HAY: 17 km/h 3R 20 km/h Bt T7d |/ gl
8 9 912 39 |9 fa=t gt o

(b) 180
(c) 200
(d) 150
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Q. 12) A policeman chases a thief. The speeds of the

-r_;l,-(_, G m ) policeman and the thief are_8 km/h and 6 km/h,
respectively. If the policeman started 10 minutes late, at
what distance he will catch the thief?

6 0rMm — (Kkm u® qRra®dl 9] BT Qo Sl gl Y IR @
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Q.15 fa=101,b =102 and c = 103, then a® + b* +
e —_— —
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_LEO_ :§— -;téf.:)é Q. 16) If 2Cot 6 = 3, th:nﬁndthevaluleof%
- afg 2cot 6 = 3 B, A2 7 71 i g
dCot®= 5 (a)% i 322 _ 342
Cot® = ;%';é'? (b) = < -bA ___l[_'}___j—-
TR @0 > G TRt~
(d) 2/3
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coSCaA +B] =

CasRCOS B -1 wPASB
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Q. 17) Find the value of the given expression.
_—d

2+ cos49° cos 41° -

sin 49° sin 41° U 70 &iw® &1 91 319 ST

(b)-1

(c)0

(d) 1
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2tan a
1-tan’ o'

Q. 18) Using the identity tan 2a = find the value

of tan 15°, correct to three decimal places. [Use /3 =

1732 o
tan 2a = ———, HAAIHS] BT JTANT HIS tan 15° BI

SUHAG & diF RITH I el °149 J1d Sieg|
—>

(b) 0.27 A

(c) 0.267 A

(d) 0.269 A
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—
Q. 19) If the length of a chord] drawn at a distance of 21

cm from the centre of a circle, is 40 cm, then the radius
(in cm) of the circle is:

gfe 99 & Hg |/ 21 98 Pl I U TP 40 cm T Sffal
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(c) 25

(d) 20
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Q. 20) The length of each side of a triangle is 12 cm.

———————————

)| K | What is the length of the circumradius of the triangle?
A et Prys 3t e yon 3t da1g 12 cm 31 39 Biyw &t
IR oRfem F ded ga A
(a) 8v3 em
CavCr— = (b) 2v3 cm

(c) 6V3 cm
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\ Q. 21) DE is a chord and KDE is a secant of a circle- If KD
P =9cm, DE =7 cm and KH is a tan

point H, then find KH.

gent to the circle at

DE U% g @1 ilaT & 3R KDE 39 &1 dg® (Hide) 21 afe

- PAAP B KD = 9 cm, DE = 7 cm 3R KH fdg H W} 39 @t wusf Y g,
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(b) 25 cm
(c) 16
L (d) 44
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Q. 23) The ratio of the length to width of a certain
rectangle is 3 : 2 and the area is 150 cm®. The perimeter
of the rectangle (in cm) is:

s fAfda smaa &t darg iR SISTS ST AU 3: 2 8 3R
IUPT ATBA 150 cm? gl AT BT IRHAT (cm ) I

I

(a) 20
b) 30
o® (1s+10)
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Q. 24) The following pie chart represents the percentage
distribution of girls in five girls’ colleges A, B, C, D and E. The
total number of girls in all the five colleges is 2,500.

Fafafaa aig a1 asfeal & ufa sidul A, B, ¢, D 3R E &
wsfeal & ufawra de &t gufar g1 Wt ula sraw § asfeal
@1 A WS 2,500 B

What is the average number of girls in the collage C and E?
Pra C 3T E # defeal 1 iua = 12|

(a) 500
(b) 650
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0. 25) The number of students in different classes of a
school is shown in the following bar

h.
ﬁqrﬁﬁfmwﬁwﬁwm%a?%f‘wai&mﬁﬁ
faenfiat 9t w=n & gufar a2
NUMBER OF STUDENTS = f&:nﬁfzﬁa"tm

CLASS = P&l
ﬁrﬁtﬁa‘ta&neﬂﬂﬁmﬁfa’faﬂmﬁmmm

FaT 7 ¥ faenfial 9 e &1 e wfawe © @ sxwea
Tl 9 "eh)?

(a) 35.29%

(b) 34.29%

(c) 33.48%

(d) 36.48%




